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S A0H
HzH: QIRAZAH(A0]H)
Sl RIRZA Y BM=X AW CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
S e e =1 1,800,000& = 12& 21,600
“NSHhssE 22 20,000& * 12& 240
—REUaYSMES 10,000 = 128 120
—EENEHRE S 50,000& * 23] 100
-H3X HA 800,000& * 13 800
O9HZ bl 9,240
-t 2| 11,000& * 8AIZ2F = 105 9,240
OAI& &Hl KX Hl| 28,320
-WFO =2 ¥ REPY 100,000& * 30CH 300
-HI&&Hl |2 900,000& = 2CH 1,800
-4 g A=) S JIE A& EH|
300,000& * 1CH = 33 900
-sUX=EAE 1,000,000& 1,000
-HAS2ZE 270,000& * 3000 £ 8,100
-XotE XtSHiaAlA 720,000& 720
-HE2 SX2el(1,690m) 4,000,000& 4,000
-2 X2l 1,500,000 1,500
22 2 & A2 7,000,000& 7,000
-HR A2 3,000,000 3,000
(@PNE=FaR=1a:] 4,200
-AESI2 2,000,000& * 2CH 4,000
- HAIEE2 100,000& * 20H = 13 200
206 M = Hl 880 880 0
01 24l 880 880 0
ONR0E MERY 80,0002 * 1% 80
OHROE 7 50,0002 * 1002 500
OZBAIE HZE8 %72
15,000& * 1098 * 23] 300
307 QI2t0| M 3,000 3,600 A 600
05 A2t E 2 3,000 3,600 A 600
ORoAHIAIAE 250,000& = 12& 3,000
401 Al HI YL 2 0HHI 30,000 6,000 24,000
01 A& HI 30,000 6,000 24,000
OFAF SH&EA 2|2 E S At 30,000,000& 30,000
SHARDAIEF=R(AO0IH) 200,364 180,400 19,964
AR2AIEFA 200,364 180,400 19,964
OIRNZE L AR2AS 193,864 173,900 19,964
401 Al HI YL 2 0HHI 193,864 173,900 19,964
01 A& HI 180,000 160,000 20,000
ouzE1e th+2 ¥ s=2Z &3 AHL=100m)
25,000,000& 25,000
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SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
O211e s2EZ & Z AH(L=200m) 25,000,000& 25,000
Otlat2e] th+=2 ¥ s2 Z &3 AH(L=100m)
20,000, 000& 20,000
Otldt4el s 2 L 2 Z AH(L=200m) 25,000,000& 25,000
O&x 12l =234l Z AHL=200m)
25,000, 000& 25,000
O=2H H=x=&g 10,000, 000& 10,000
O&g2 5 AM&E X224l 50,000, 000& 50,000
03 A& 20HY| 13,864 13,900 A\ 36
OARZEUSAANY ZRLUH
120,000,000& * 0.72% 864
Oz ¢ ataAdl &4l fx= 10,000,000 10,000
ONM&E &Y Xz 3,000,000& 3,000
Z2AXHAIE 6,500 6,500 0
206 M = Hl 5,000 5,000 0
01 X2 Hl 5,000 5,000 0
OZLXTAHANY M2 5,000,000& 5,000
401 Al HI 2L 2 0HHI 1,500 1,500 0
03 A& 2 0HbI 1,500 1,500 0]
OZLAXTHAMNY HH U 1,500, 000& 1,500
HEMSHAY (A0IH) 105,549 96,889 8,660
Jl2A4I(A01H) 105,549 96,889 8,660
JlE23Hl 105,549 96,889 8,660
201 et A | 51,689 49,139 2,550
01 At 22l ] 40,360 37,690 2,670
Ogst=2H| 5,100,000 5,100
O3l 3,960,000& 3,960
Og - =& 18,060,000 18,060
O=A| &Xxt& 160,000& = 104 = 12& 1,920
O™ EY APE FH| 11,320
- elED| 6,000
g4 300,000& * 2CH ~ 4= * 23] 4,800
== 300,000 = 2CH = 23] 1,200
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200,000& * 1CH = 33 600
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02 332494l 11,329 11,449 A 120
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O#AEH KRAE=H| 2,529
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-= AHD| 15,000,000 * 2CH * 2% 600
-FAX 600,000 = 2CH * 2% 24
202 04| 40,500 32,400 8,100
02 AN Y| 40,500 32,400 8,100
OEHHYI 225,000& = 154 * 12& 40,500
203 PR =&lY| 10,200 10,200 0
01 J|22H L R=AH| 6,600 6,600 0
OHE 550,000& * 12& 6,600
02 RIS R = XY 600 600 0
OXJ A& & AH| 40,000& * 159 600
04 2SI L RF=AH| 3,000 3,000 0
ORBNSgIRF=&| 250,000& * 12& 3,000
405 XH&HFE SHI 3,160 5,150 A 1,990
01 JHMY = ZF SHI 3,160 5,150 A 1,990
OUIISARII H 2
1,300,000& = 2CH 2,600
Od&aD A #2¢ 560,000& * 1CH 560
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